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(c) Name the propositions where predicate
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What is Dilemma? How is Dilemma

classified? Illustrate. 2+8=10

o 7 FoTES (A e 4
=7 9 FRAZ HCEALA 4|

term is undistributed.
CR PR W 41 IS Re@ =mcor smig
el

“The subject term of a premise will be
the predicate term of the conclusion.”
This is a rule of obversion/conversion.

( Choose the correct answer )

OIS S el Praed [em om
27 17" Q2h] AR /TR o |
(o TSI M Sferea )

In which figure of syllogism the middle

term is the subject term in both the
premises?

EUIES BN 1 4 I o B s )
FHRIGACSR, SCl] 17 2 2

DARAPTI/DATISI/DIMARIS/DARII is a
valid mood of which figure of syllogism?

( Choose the correct answer )
DARAPTI/DATISI/DIMARIS/DARII /RS
IO REH (34 S 2

(% Techr e Tferear )
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PHILOSOPHY
Paper : PHI0O400304
( Traditional Logic )

Full Marks : 60

Time : 2% hours

The figures in the margin indicate full marks
for the questions

1. Answer the following as directed : 1x8=8
fetarpM Faremzs e fm :

(a) “Logic is the study of the methods and
principles used to distinguish correct
from incorrect reasoning.” Who made
the statement?

‘g7 e T IR A1 A2 FRAA TR
I AT AF NS AR SR 1”7
FARR A (e ?

(b) “Valid reasoning guarantees a true

conclusion.” Is the statement true or
false?

“oay e @b g FarI aRfe fea
FLMR 5T (579 2

A25/816 ( Turn Over )

(3)

(g9 In which ordered enthymeme both
premises are stated, but the conclusion
is left unexpressed?

@A TR AR S GG LR
Tl =, i Pras sesfis 2 9 ?

(h) Dilemma can be simple/complex/both
simple and complex.
( Choose the correct answer )
FOUR /SN /T WE oA [l 2
AT |
( o= =3 A Sferear )

2. Answer any six of the followiﬁg questions :

2x6=12
oo T erPiyEd G =R T forsi -
(@) What are the two conditions of a sound
argument?
9b1 7% (sound) IET 59 701 & fF 2

(b) State two differences between material
truth and formal truth.

IS NGO HAF IFRE TOOR oS 4
701 (1< o741 |
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(c)
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(h)

(- 4=)

What is meant by ‘opposition’ in
Aristotle’s Square of Opposition?
RER Reareps fesas R’ e
®H?

Define syllogism.

R ket fee |

How is ‘mood’ of a syllogism
determined?

I @by Rer @em MR F9 = 2

_ State any two differences between

immediate inference and mediate
inference.

GG S S G SR AEO A9
R e o1 #1110 |

Why is logic considered as a normative
science and not as a positive science?

REe R 3gTe Rer w21, e fem
ooz &= IF?

State briefly the nature of the structure
of argument.

feq a19-2fS Fofcd TR fora |

( Continued )

(6)

Mention the rules of syllogism and their
associated fallacies.

TR PR SEe 79 S BREARA G
oS (2 9= (TR (fallacy)d A s |

What is Venn diagram? How are A, E,
I and O propositions represented by
means of Venn diagram?

= foq 2 A, E, | 9F O 37 (&7 Bad
SRS (e e 91 = 2

Write a short note on Sorites.

. TRPRSE (Sorites) S «ft 54 G i |

What are the kinds of hypothetical
syllogism? Explain.

AREe FRere TR R o =R
fers

4. Answer any two of the following questions :

10x2=20

wef il P @ e 7o T fore -

(@)
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How are truth and validity related to
each other? Discuss.

ool W[F (4] AT NS (FCEd GIvo
02 AP 7 SE] Al |

( Continued )

(5)

(i) Define obversion.

ARG A5 e |

() What is the literal meaning of ‘Sorite’?
‘Sorite’™d TrERe 9y %2

3. Answer any four of the following questions :
5x4=20

were Tl 2RprEs R e SRR T o

(a) How does an argument differ from
an argument form? Explain.
e 9Bl IReq TR [ FEAC 4R 2 LA
forsn 1

(b) Explain the differences  between
deductive inference and inductive
inference.

Fomm S W S SR S Q=

AMLFPTR 0T 1 |

(c) Write a short note on distribution of
Terms.

o el e @b 5 (Br fors |

(d) What are the four kinds of Categorical
Propositions? Explain.

—0 £ 0 et =3
ole

o B e e £
APINY AT N0 ¥ i 7 0TS0
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(b) Explain the different forms of Opposition
of Propositions.

o9 Reafier R[S o™ =i o 41 |

(c) Test the validity of the following
syllogisms with the help of Venn.
diagram : 5+5=10
o o mEw e i EERE
(syllogism) Gy folefay <41 :

(i) All cows are grass eaters.
Some wild animals are grass eaters.

Therefore, some wild animals are
Ccows.

ST o R SISl |
R R % = peere |
e, REIF IR0 &8 27 o7 |

(i) No humans are cats.
All humans are mammals.
Therefore, no cats are mammals.

T T2 7 A |
PG AR A TA |
e, @I @R TH TR |

(d) Explain’ Venn diagrammatic technique
for testing the validity of syllogism.
o Towq SREe TR (3@l @emes Nt
IR AR, O r&feehr o <=1 |
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